Solve the equation  2x2—-4x-5=0

We will use the Quadratic Formula to solve this equation.

2
If ax?+bxtc=0 then —x=—PEV =%

For our equation, a=2,b=—4,c=-5 . So,

L= ~CHE[16-4Q)(5) _ 456
- 2(2) - 4

Two solutions: x=2.87 or x=—.87

Here is a proof of the Quadratic Formula:



Suppose  ax*>+bx+c=0 . Divide both sides by a.

R2+lx+€20  Add - toboth sides.
a’  a a
x2+§x=—% or x2+§x+( )=—%+( ) Completethe squarein x.

2. b b> | _ ¢ | b? . . .
X“+=x+| = |=—=+|-—| Factortheleft side, simplify the right side.
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x+£ = * b—dac _ im Solve for x.
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< Quadratic Formula

c=—bEVb>—4ac
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